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[NEP-2020]
Full Marks : 35 - Time : 14 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five of the following: 1 ><S=5
a) . Define DATA in stétistics‘?
b)  Write down two advantages of random sampling.
c) What is standard deviation ‘(SD)?
d)  Define level of sigﬁiﬁcaﬁce.
e) What is Yates correction is statistics?
f)  What is the furiction of a biélogical database?
g)  Mention names of two protein databases.

h)  Write full name of DDBJ.
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Answer any -two of the following:

a)

b)

d)

Answer any two of th

5x2=10
Calculate the arithmetic mean and mode from
the given data:

A2 S5, Sl 2 Stk 38, ST 35 1S
Enumerate the conditiéns in which paired and
unpaired t-test and goodness of fit test should
be selected.

What is BLAST? Write down the aims and scope

of Bioinformatics. 2+3

i). What is the difference between sample
and population? '

-ii)  The table below shows (he marks obtained
by a student in three subjects:

Subject: Marks obtained
Biology 7S
Mathematics % 85

Language 65
e L R

Construct a bar diagram to represent the

mgrks obtained ip three subjects.  2+3

e fol[owing:

a) - What is VPubMed? Compare Gen Bank and

: EMBL as Sequence submissjon tools. How does

Entre Z help in data Ietrieval? Explain with

cxam‘ples the differencc between positive,

nega_tlve, and zerq correlatiop. 2424244
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b)

i)  Calculate the correlation coefficient
between the heights of fathers in inches
(X) and their sons (Y). 5
X [57(67|70[72|65[66|69]68
YO | @S 6\ 700 | 67| 5B

.. 11)  Find the regression equation of X on Y

d)

from the following data: 5

EXE RO 81241116 [SINN| STESHNTEN El0N 02
Y[ 'S 18| 23 ( 14720 f17[ 251|128

In a cross between black and white coat-colored
mice, the F, individual segregated into 787
black and 277 white coat-colored individuals.
If you have to test that these results agree with
the expected ratio 3:1. Then apply chi-square
P = 50%.

A clinical trial was conducted to evaluate the
effectiveness of two cancer drugs. Group 1
received Drug A, and Group 2 rece_ived Drug B.
After a month of treatment, the following data
was collected on the reduction in tumor size (in
centimeters) for each patient in both groups.

Eoup A (drugA) 24 1.8 2.0 26 oD
Group B (drug B)| L6 1.5 1.7 19 1.4

-Perform a two-sample t-test to determine if
there is a significant difference in the reduction
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of tumor size between the two drugs, (at a

significance level 0.05, df-8, critical value

23511015
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